



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{5} - \frac{1}{2}\right)^2 + \frac{1}{6}\left(\frac{1}{4} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{1}{2} - \frac{1}{4}\right)^2 + \frac{1}{5}\left(\frac{1}{2} - \frac{1}{2}\right) =$$

$$\left(\frac{3}{2} + \frac{3}{2}\right)^2 - \frac{1}{4}\left(\frac{2}{5} - \frac{1}{6}\right) =$$

$$\left(\left(\frac{1}{6}\right)^2 + \frac{1}{6}\right) \times \frac{3}{4} + \left(\frac{3}{5} + \frac{1}{2}\right)^2 =$$

$$\left(3 + \frac{1}{5}\right)^2 + \frac{1}{4} + \frac{1}{3} - 4^2 =$$

$$\left(\frac{1}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{2} + \frac{1}{4}\right)^2 =$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{1}{2} - \frac{3}{5} - 2^2 =$$

$$\left(4 - \frac{2}{5}\right)^2 - \frac{3}{5} + 3^2 + \frac{2}{5} =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{3}{4}\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\frac{3}{5} - \frac{1}{5}\right)^2 - \frac{1}{6}\left(\frac{2}{5} + \left(\frac{1}{6}\right)^2\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{5} - \frac{1}{2}\right)^2 + \frac{1}{6}\left(\frac{1}{4} + \left(\frac{1}{3}\right)^2\right) = \frac{379}{5400}$$

$$\left(\frac{1}{2} - \frac{1}{4}\right)^2 + \frac{1}{5}\left(\frac{1}{2} - \frac{1}{2}\right) = \frac{1}{16}$$

$$\left(\frac{3}{2} + \frac{3}{2}\right)^2 - \frac{1}{4}\left(\frac{2}{5} - \frac{1}{6}\right) = \frac{1073}{120} = 8\frac{113}{120}$$

$$\left(\left(\frac{1}{6}\right)^2 + \frac{1}{6}\right) \times \frac{3}{4} + \left(\frac{3}{5} + \frac{1}{2}\right)^2 = \frac{1627}{1200} = 1\frac{427}{1200}$$

$$\left(3 + \frac{1}{5}\right)^2 + \frac{1}{4} + \frac{1}{3} - 4^2 = \left(-\frac{1553}{300}\right) = \left(-5\frac{53}{300}\right)$$

$$\left(\frac{1}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{2} + \frac{1}{4}\right)^2 = \frac{107}{144}$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{1}{2} - \frac{3}{5} - 2^2 = \frac{163}{20} = 8\frac{3}{20}$$

$$\left(4 - \frac{2}{5}\right)^2 - \frac{3}{5} + 3^2 + \frac{2}{5} = \frac{544}{25} = 21\frac{19}{25}$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{3}{4}\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) = \frac{251}{200} = 1\frac{51}{200}$$

$$\left(\frac{3}{5} - \frac{1}{5}\right)^2 - \frac{1}{6}\left(\frac{2}{5} + \left(\frac{1}{6}\right)^2\right) = \frac{479}{5400}$$